=% I T ey &

%mgwxw HE J& 5 Wyﬁ w 42 8 T\P &%,@MMN 2 B
0.8°200'2$ + 73
0/8'200'2$ 066'892$  [90£'G96$  [#SS'00€ LS £ A/
0/8'200'2$ GSh've$ BT HEXSEYhTE
Gl¥'8.6'L$ 21z$ BHHER| HBEYE YHMTEE
€02'8.6'L$ 0S¥'0L$ Ykidl| HEXESE-YHMTHE
€G1°/96'L$ 0v6'v92$ [20€'SE0‘LS FERY| HEWESE-YHET(Ee
116'299% 4R C) BER| HEXE-YHETMHE:
£90'€99% 029°'1$ XE| HEXE-YHTHE
Ly 1998 00L'9% BTy HEYSE- YHEEE
1¥£'659$ 000'c$ PR HEXE-YHhT@E
1¥£'259% 00S$ EROGER HEWE-YHMETHEE
L¥8'159$ 000°22$ 000'0Z$ 66£0Z THPHES| HEXE-YHMEHEE
8¥%7'39¢ 066°122$ RE4S
8¢7'098$ 000'0Z$ JARBRE HERE- Y WMETEE, YE LES 1]
8¢7'088$ Lov$ Y ME ke £
1£0'088% 00S'001$ YHEHEES
1£G'6L.$ 002¢8¢$ YEEEI BN Y $hE (8t
1£8'G6ES 00Z'GL$ Y XSRS Y kg
1£9'08€$ G¥8'02$ EEYL£C Y $h&k S
26.'65€$ 00Z'v$ BSIESY ¥ ififdsT H&SOL Y ks
266'65¢$ 025'GGlL YHhESSEEE Y Y 8
2.0'00Z$ 220'002$ BB B 48R T Y ¥

BTl BETHX | B3V | BEmE E IEHZE /Y Xh

UHhS Lk Tl

TTHIEH 15901 F HLO HOT =501
SRR E Y $hiks
ST L\ HEZFELUS




